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Question Number : 1 Question Id : 6232172535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Maximum participation of students 1s possible in teaching through

Options:



1 discussion method
, audio-visual aids

lecture method
=4

textbook method
4,

Question Number : 2 Question Id : 6232172536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

If some of your students misbehave with you in the class, as a teacher you must

Options:

, mobilize other teachers agamst the students

report to their parents
z.

report to the Principal

improve their behaviour by your own character and scholarship

Question Number : 3 Question Id : 6232172537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A teacher 1n the classroom should keep the pitch of his voice will be
Options:

sometimes low and sometimes high
1.

low

. moderate

high enough

4



Question Number : 4 Question Id : 6232172538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If some students fail in the classroom. it 1s the fault of

Options:
1 curriculum

students themselves

s the head of the institute

the teacher

Question Number : 5 Question Id : 6232172539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
If a teacher 1s not able to answer the question of student, he/she should
Options:

feel pity of his ignorance
1

say that the question is urelevant

shout at student

say that he/she will answer after consultation
4.

Question Number : 6 Question Id : 6232172540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The main important cause of failure i the beginning for a teacher lies in the area of

Options:

1 verbal ability



strict handling of students
Z.

. lack of knowledge on the part of teacher

lack of teacher interpersonal relationship
4.

Question Number : 7 Question Id : 6232172541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Classroom discipline can be maintained effectively by
Options:
putting neat dress in the class
1

providing interesting programme
2.

knowing the cause and handle with hard
=3

sending out students from the class
4,

Question Number : 8 Question Id : 6232172542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Verbal guidance 1s least effective in teaching in the following aspects:

Options:

Relationship
1

Skalls

Attitude

3.

, Concept



Question Number : 9 Question Id : 6232172543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The most appropriate meaning of teaching 1s
Options:
acquisition of knowledge
s

modification of behaviour
; acquiring skills

personal adjustment
4,

Question Number : 10 Question Id : 6232172544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Survey research generally studies

Options:

circumstances
1.

populations
2.

PIOCES5CS
>,

events

Question Number : 11 Question Id : 6232172545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Principles of fundamental research are widely used in
Options:

; empirical research

action research
2.



. philosophical research

) applied research

Question Number : 12 Question Id : 6232172546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

A research design 1s

Options:

| away of conducting research that 1s not grounded in theory

a choice between the use of quantitative and qualitative methods
z.

a frame work for every stage of the collection and analysis of data
3.

the method of presenting the research findings

Question Number : 13 Question Id : 6232172547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A research divides his population into certain groups and fixes the size of sample from

each group. This type of sampling is called

Options:

judgement sampling
1.

stratified sampling
Z.

cluster sampling
=

quota sampling
4.

Question Number : 14 Question Id : 6232172548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



In which of the following activities. potential for nurturing creative and critical thinking

is relatively greater?

Options:

Participation in a research seminar
14

Participation in a workshop
2.

Presenting a seminar paper
=

Preparing a questionnaire for data collection
4.

Question Number : 15 Question Id : 6232172549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

By a synopsis of a research project, we mean
Options:

the blue print of research
1z

a plan of research
2.

a summary of the findings of research
=3

, evidences and extracts of observations

Question Number : 16 Question Id : 6232172550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following 1s not true m case study research?

Options:

Case study research means single and multiple case studies
1.,

Case study research relies on multiple sources of evidence
2.



. Case study research benefits from prior development of theoretical propositions

) Case study research can not include quantitative evidence

Question Number : 17 Question Id : 6232172551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The process that 1s not needed in experimental research 1s

Options:

controlling
1.

observation

manipulation and replication
=

; collection of references

Question Number : 18 Question Id : 6232172552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Which of the following 1s not a component of ethical research?
Options:

1 Competence
, Consent
] Voluntariness

Suitability
4

Sub-Section Number: 2
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Question Shuffling Allowed : Yes



Question Id : 6232172553 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Cuesticon Label | Comprehension

Read the following passage and answer the question

As we have seen, fat is crucial to survival, and there can be little doubt about the
evolutionary history of our preference for it in our diet. In addition to fat, are there other
substances that are so important to our basic physiology that we must have them? Salt 1s
one of those essential minerals that we require for normal physiological function. The
sodium and chloride found in salt along with potassium, are electrolytes. substances that
when 1n the proper solvent will conduct 1ons. Electrolytes are important in regulation of
the body’s fluid levels as well as the balance of acids and bases.

Considerable research has been conducted on salt by physiologists as well as

ecologists. Physiologists are concerned with the regulation and management of
electrolvtes, while ecologists are mterested in how we acquire our taste for salt. Is our
preference for salt learned, and if so, how is it accomplished? Alternatively, is our
predilection for salt a consequence of our evolutionary history? Of course, the answer is
both, but there are some other interesting answers to the recurring “why” question.
Ecologists have noted that one of the consequences of heavy rain fall is the depletion of
sources of sodium present in the food of land-dwelling herbivores. This is particularly
true for animals that are far from the ocean. Female mammals may have developed a
predisposition for salt due to the demands of pregnancy and lactation. Mammals with a
highly developed preference for salt would be favoured in an environment where sources
of salt were unpredictable. When salt was encountered., consumption of substantial

quantities could have provided a reserve on which an individual might draw.

Sub questions

Question Number : 19 Question Id : 6232172554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What 1s our preference in our diet as per the evolutionary history?

Options:



Fruat

i
Root
2
Fat
=
Protein

Question Number : 20 Question Id : 6232172555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What 1s one of the essential minerals we require for physiological function?
Options:

Salt

5 Fluorite

Sugar
=,
) Magnetite

Question Number : 21 Question Id : 6232172556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

What are the electrolytes that conduct 1ons?

Options:

Sodinm
1.

Potassium

Chloride

3



All of the other options
4.

Question Number : 22 Question Id : 6232172557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Who conducted research on salt?
Options:

1 Historians and Ecologists
, Psychologists and Physiologists

Ecologists and Psychologists
=

) Physiologists and Ecologists

Question Number : 23 Question Id : 6232172558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What 1s the concern of Physiologists?

Options:

Regulation of electrolytes
1

Human acquisition of taste for salt
Z.

] False history of evolution

Harmful effects of consuming salt
4,

Question Number : 24 Question Id : 6232172559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What has been the finding of Ecologists?

Options:



Consequences of drought
1

’ Depletion of Ozone layer

Soil erosion

) Depletion of sodium in plants

Question Number : 25 Question Id : 6232172560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Why do female mammals require more salt?
Options:
To satisfy hunger and thirst
1z

, To meet the demands of pregnancy and lactation

To acquire agility in running away
o

To combat other animals
4.

Question Number : 26 Question Id : 6232172561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Where the salt supply 1s unpredictable?

Options:

Mamimals that live far from the ocean survive
Mammals that consume more water survive

Mammals with salt reserves survive



Mammals cannot survive
4.

Question Number : 27 Question Id : 6232172562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

What 1s the central argument of the passage?
Options:

Salt 1s essential for our basic physiology
1.

. There 1s natural carving for fat

] Not all mammals are herbivores

) Electrolytes regulate body’s fluid levels

Sub-Section Number: 3
Sub-Section 1d: 62321787
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232172563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When verbal and non-verbal messages are contradictory, most of the people believe 1t as

Options:

intermittent messages
verbal messages
" ggressive messages

non-verbal messages

Question Number : 29 Question Id : 6232172564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The typical feature of mnformation-rich classroom lecture 1s in the nature of being

Options:

factual

staggered

sectional

sedentary

Question Number : 30 Question Id : 6232172565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Positive classroom communication leads to

Options:
submission

coercive

persuation
3.

biased passivity confrontation
4,

Question Number : 31 Question Id : 6232172566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The bias in classroom communication leads to

Options:

group argument
1.

external stimulus
2.



social identity
3.

biased passivity
4,

Question Number : 32 Question Id : 6232172567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
If majority students in your classroom are weak. then yvou should
Options:
keep your teaching slow
1

keep vour teaching slow along with some extra guidance to bright pupils
2,

i do not care about the itelligent students
’ keep your speed of teaching fast so that students increase comprehension

Question Number : 33 Question Id : 6232172568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A teacher who 1s not able to draw the attention of his students should
Options:
| start dictating
resign from the post

. evaluate his teaching method and improve it

; find fault with students

Question Number : 34 Question Id : 6232172569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Arrange the following teaching process in order
1)  Relating the present knowledge with previous knowledge.
11)  Presentation of material.
1) Evaluate the lesson taught.

1v) Formulating objects of the lesson.

Options:

). ). ). (i)
(. €. i), (iv)
, (0. @), i), (v
, (D). (D). (). @)

Question Number : 35 Question Id : 6232172570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is most important factors for success in the classroom?

Options:

Communicative ability
1

, Organizational ability

Personality of the teacher
o

; Scholarship

Question Number : 36 Question Id : 6232172571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When 1s the communication process i1s complete, when

Options:



the sender transmits the message
.,

, the receiver understands the message

] the message leaves the channel

; the message enters the channel

Question Number : 37 Question Id : 6232172572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the series, there 1s a pattern. Identify the pattern and fill the blank.

20,8 18 3T,

Options:

73

Question Number : 38 Question Id : 6232172573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In the series, there 1s a pattern. Identify the pattern and fill the blank.

§ B 3 3
81 54" 3% 24

Options:

B 3
32

1.



16
2
_ 15
L
4, 9

Question Number : 39 Question Id : 6232172574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the series, there 1s a pattern. Identify the pattern and fill the blank.
ABD, DGK, HMS, MTB, SBL.

Options:

ZAB

XKW

/KU

ZKW

Question Number : 40 Question Id : 6232172575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the series, there 1s a pattern. Identify the pattern and fill the blank.

SCD, TEE, UGH, , WKF.
Options:
. CMN
UJI

z.



V1J

o

T

4.

Question Number : 41 Question Id : 6232172576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If a man covers a certain distance between his house and office on scooter with an average

speed of 30 km/hour, he is late by 10 minutes. However, with a speed of 40 kin/hour, he

reaches his office 5 minutes earlier. The distance between his house and office 1s

Options:
1 50 ki
45 km
2.
40 km
=
30 km
4

Question Number : 42 Question Id : 6232172577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An amount of 1,980 1s divided among 7 men, 11 women and 5 boys such that each
woman may have 3 times as much as a boy and a man as much as a woman and a boy

together. Then one woman'’s share 1s
Options:

% 1D

X 80

X 90

R 00



Question Number : 43 Question Id : 6232172578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In an examination, A got 10% marks less than B. B got 25% marks more than C and C

got 20% less than D. If A got 360 marks out of 500, the difference in percentage of C and

D is

Options:
15%

1

, 16%
18%

3

. 22%

Question Number : 44 Question Id : 6232172579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A person bought an article and sold it at a loss of 10%. If he had bought it for 20% less

and sold it for ¥ 55 more, he would have made a profit of 40%. Then the cost price of

that article 1s

Options:

X 260
1

X 250
2

X 240
=3

X 220
4,

Question Number : 45 Question Id : 6232172580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The banker’s discount on I 1.600 at 15% simple interest per annum is the same as the

true discount on X 1.680 for the same time and at the same rate. Then the time period in

months, 1s

Options:

Y
=

1. o

U
b2 | —

Tad

Sub-Section Number: 4
Sub-Section Id: 62321788
Question Shuffling Allowed : No

Question Number : 46 Question Id : 6232172581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the context of deductive argument with two premises, which one of the following 1s

not correct?
Options:
An argument with one true premise, one false premise and a false conclusion may be

valid

An argument with two true premises and a false conclusion may be valid

An argument with one true premise, one false premise and a true conclusion may be
valid.

An argument with two false premises and a false conclusion may be valid



Question Number : 47 Question Id : 6232172582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Two statements, Assertion and Reasoning are given, based on the two statements give

the correct answer.
Assertion (A) : Sustainable development 1s critical to the well-being of human society.
Reason (R) :  Environmental friendly policies do not harm the environment or deplete

the natural resources.

Options:

1 Both (A) and (B) are true and (R) 1s the correct explanation of (A)

Both (A) and (B) are true but (R) 1s not the correct explanation of (A)
; (A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

4.

Question Number : 48 Question Id : 6232172583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The premises and four conclusions drawn from them (taking singly or together) are given

below. Select the code that states the conclusions validly drawn.

Premises:
I All religious persons are emotional
IT) Sunil 1s a religious person
Conclusions:
A) Sunil 1s emotional
B) All emotional persons are religious
C) Sunil is not a non-religious person
D) Some religious persons are not emotional
Options:

Only A

1



Aand C

B and C

3

A BandC

Question Number : 49 Question Id : 6232172584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

You are given a statement followed by three assumptions numbered I, II. III. You have
to consider the statement and the following assumptions, decide which assumption(s)
is/are implicit in the statement and choose your answer accordingly.
Statement: Quality of life of a person is not dependent only in his wealth.
Assumptions: I) The aim of most people is just to acquire more wealth.
ITI) There are some factors other than wealth which contribute to the
quality of life.
IIT) Wealth does not contribute to the quality of life at all.
Options:

1 Oanly (I) 1s implicit
. Only (I) and (II) are implicit
. Only (II) 1s mmplicit

Only (IT) and (III) are implicit

Question Number : 50 Question Id : 6232172585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The two words have some relation. Identify the relationship from the following options
and fill the blanks.

Studious : Erudite : :

Options:



Ignorance : Illiterate
1.

. Virtuous : Judge

Enterprising : Rich
=

Cupidity : Poor

4

Question Number : 51 Question Id : 6232172586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The two words have some relation. Identify the relationship from the following options

and fill the blanks.

Aluminium : Bauxite : : Iron :

Options:
Pyrite

1

, Magnesite
Haematite
) Pyrdusite

Question Number : 52 Question Id : 6232172587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following figure and answer the question given below.

— Tramed nurses
O — Married persons
A — Nurses 1n hospitals

Married but unmarried nurses in the hospitals are represented by the number

Options:

A

1.

th

Question Number : 53 Question Id : 6232172588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Study the following figure and answer the question given below.

— Trained nurses
O — Married persons

A — Nurses in hospitals

If hospital management requires only married trained nurses, which part of the diagram

1s to be chosen?

Options:



Question Number : 54 Question Id : 6232172589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure and answer the question given below.

— Trained nurses
O — Married persons
A — Nurses in hospitals

What 1s represented by the number 7?
Options:

Married nurses in the hospital
.,

, Trammed nurses

] Unmarried trained nurses

Marrtied tramed nurses

Question Number : 55 Question Id : 6232172590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following table gives the semester-fees (in thousand ) for five courses in different years

m a university. Study the following table carefully and answer the question given below it.

Course | B.Tech | B.Ed | B.Pharm | ML.B.A. | M.Sc

Year

2001 10.5 54 7.0 4.5 1.5
2002 135 5.5 10.5 4.8 i e,
2003 15.0 12.01 | 12.9 729 4.0
2004 20.5 126 | 143 92 9.5
2005 30.35 16.5 | 165 18.5 10.5
2006 54.0 18.5 | 20.6 16.9 12.9

What was the approximate percentage increase in the semester fees of B.Pharm in the

year 2003 compared to the previous year?
Options:

22

1

Question Number : 56 Question Id : 6232172591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following table gives the semester-fees (in thousand ) for five courses in different years

m a university. Study the following table carefully and answer the question given below it.

Course | B.Tech | B.Ed | B.Pharm | M.B.A. | M.Sc¢

Year

2001 10.5 5.4 7.0 4.5 1.5
2002 13.5 5.3 10.5 4.8 2.5
2003 15.0 12.01 | 12.9 1.5 4.0
2004 20.5 126 | 143 9.2 9.5
2005 30.35 165 | 16.5 18.5 10.5
2006 54.0 185 | 20.6 16.9 12.9

The semester fees charged for MBA course in the year 2003 was approximately what

percent of the semester fees charged for B.Ed in the year 2005?
Options:



42%

43%
5
. 45%
) 48%

Question Number : 57 Question Id : 6232172592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following table gives the semester-fees (in thousand ) for five courses in different years

in a umversity. Study the following table carefully and answer the question given below it.

'H““‘*-H%(;?urse B.Pharm | M.B.A. | M.Sc
Year

2001 10.5 5.2 7.0 4.5 1.5

2002 13.5 5. 10.5 4.8 33

2003 15.0 1 12.9 75 4.0

2004 20.5 126 | 143 92 9.5

2005 3035 [165 |165 18.5 10.5
2006 54.0 185 [20.6 16.9 12.9

What was the difference between the total semester fees charged for M.Sc over all the

years together and the fees charged for all the courses in the year 2005?

Options:
X 46.900
X 47.800

z.

. X 48.400
X 50.600

Question Number : 58 Question Id : 6232172593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0




The graph given below gives the number of employees in company A and company B during

2012 to 2017. Study this graph carefully to answer the question given below.
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The number of employees of company B in 2016 1s approximately what percentage of

the total number of employees in company B 1n all the years together?

Options:
19%
1
21%
2.
. 18%
i 24%

Question Number : 59 Question Id : 6232172594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of employees in company A and company B during

2012 to 2017. Study this graph carefully to answer the question given below.
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What 1s the percentage increase in the number of employees in company B from 2013 to

20147

Options:

100%

Question Number : 60 Question Id : 6232172595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of employees in company A and company B during

2012 to 2017. Study this graph carefully to answer the question given below.
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If 25% employees of company B in 2017 are females and 20% employees of company A
i 2015 are males then what is the ratio of the number of male employees of company B

i 2017 to that of female employees of company A in 2015?

Options:

Question Number : 61 Question Id : 6232172596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following pie-chart and table carefully to answer the question given below. Total

number of students 1n different standards = 5.500.

Ratio of the number of boys to that of girls
Standard Boys : Girls
V 3:2
VI 31
VII 4:3
VIII 2:3
IX 13
X 23

What i1s the difference between the total number of boys and the total number of girls

studying 1n all the standards together?

Options:

. 835

795

2

770

050

4,

Question Number : 62 Question Id : 6232172597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following pie-chart and table carefully to answer the question given below. Total

number of students in different standards = 5.500.

Ratio of the number of boys to that of girls

Standard Boys : Girls
V 32
VI 31
VII 4:3
VIII 2:3
IX 123
VIII 15% X 2:3

The total number of boys in standard VI and VII together 1s approximately what percent

of the total number of boys in all the standards together?

Options:

’ 47%
42%

2.

. 38%

. 35%

Question Number : 63 Question Id : 6232172598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following pie-chart and table carefully to answer the question given below. Total

number of students in different standards = 5.500.

Ratio of the number of boys to that of girls
Standard Boys : Girls
Vv 32
VI 3:1
VII 4:3
VIII 2.3
IX 3
X 2:3

What 1s the difference between the total number of boys in standard VII and IX together

and the total number of girls i standards V and VI together?

Options:

660

1.

040

N
0]
—_

LN
N
=

Sub-Section Number: 5
Sub-Section 1d: 62321789
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232172599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The letter that normally represents the floppy disc in an operating system 1s

Options:

A

1.



Question Number : 65 Question Id : 6232172600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

A temporary storage area that is attached to the CPU for I/O operations, 1s a

Options:
Channel
1.
Buftfer

] Register
Core
4

Question Number : 66 Question Id : 6232172601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When an 1mage 1s copied, it first goes to the

Options:

1 Clipboard
My document
Recycle bin

Clip art

Question Number : 67 Question Id : 6232172602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



What 1s the name for a webpage address?
Options:
Directory
1:;

Protocol

URL

3:

Domain

Question Number : 68 Question Id : 6232172603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The command that enables the user to save a previously saved document under a new

name 1s
Options:
rendaime

save
savVe das
new

Question Number : 69 Question Id : 6232172604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following 1s an example of an optical disc?

Options:

1 Magnetic disc

, Memory disc



Data bus disc

Digital versatile disc
4.

Question Number : 70 Question Id : 6232172605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The software used to enhance teaching and learning through the use of pictures, video

and sound 1s
Options:
network software
1

, utility software

programming software
=,

) multimedia software

Question Number : 71 Question Id : 6232172606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
A parallel port 1s most often used by a
Options:

Mouse
Monitor

Printer

External storage device
4.

Question Number : 72 Question Id : 6232172607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



Which one of the following devices has the largest storage capacity?
Options:

1 Compact disc

Hard disk

2

; Floppy disk

Digital versatile disk
4,

Question Number : 73 Question Id : 6232172608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

For maintenance of ecological balance, what percentage of land area should remain

covered by forest?
Options:
0.

-
32370
1.

Question Number : 74 Question Id : 6232172609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The full form of BOD 1s
Options:

Biological Oxygen Demand
1

Bacterial Oxygen Demand
z.



. Botanical Oxygen Demand

Biodiversity Oxide Demand
4,

Question Number : 75 Question Id : 6232172610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following is a radioactive element?

Options:

1 Argon

Cobalt

2

. Uranium

Platinum

Question Number : 76 Question Id : 6232172611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In which month the world environmental day is celebrated every year?
Options:

, August

September

June

July

Question Number : 77 Question Id : 6232172612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s decreased by deforestation.



Options:

1 Global warming

Rainfall

z

Soil erosion
=,

Draught

4

Question Number : 78 Question Id : 6232172613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The units used for measuring the thickness of stratospheric ozone layer are

Options:

Candella units

Molson units
Sieverts units

Donson units
4.

Question Number : 79 Question Id : 6232172614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Kanha National Park is located at
Options:
1 Bihar
Uttal Pradesh

Madhya Pradesh



Uttara Kand

4

Question Number : 80 Question Id : 6232172615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Biogas generation 1s mainly based on the principle of
Options:

Fermentation
1=

Degradation
2.

Purification
=,

Sedimentation

Question Number : 81 Question Id : 6232172616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Incineration of Municipal waste involves
Options:

1 Deduction

Redox action
2.

] Ozxadation

Polarisation
4.

Question Number : 82 Question Id : 6232172617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The education cess mtroduced 1n the year 2000 will be collected from

Options:



1 Proper tax

Commercial tax

Sales tax

Income tax

Question Number : 83 Question Id : 6232172618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The concept of “Westernization” brought out in sociology of education by M.N. Srinivas

in the year

Options:
1966
1957

2.

1952
=,
1962

4,

Question Number : 84 Question Id : 6232172619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The World Bank has provided six indicators to measure empowerment in which one

among them 1s related to education in terms of

Options:

Commerce assets

Human assets



Management assets
o]

Benefit-cost assets
4.

Question Number : 85 Question Id : 6232172620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Which of the following committee viewed education 1s a profitable market?
Options:

Sam Pretroda Committee
1z

Ambani-Birla Committee
=z,

Rama Murthy Committee
=

Janarthana Reddy Committee
4.

Question Number : 86 Question Id : 6232172621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
“Vinaya™ in Vedic education means
Options:
Knowledge

1.

Action

Revelation

Promotion
4,

Question Number : 87 Question Id : 6232172622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



One of the following teaching method ‘Nidhidhyasana® means

Options:

Thinking

1

Hearing
z.

Revelation
=,

Promotion
4,

Question Number : 88 Question Id : 6232172623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Wardha Conference held in 1937 to provide free and compulsory education up to

Options:

1 8 years
, 7 years

12 years
3.

14 years
4.

Question Number : 89 Question Id : 6232172624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In medieval India the schools meant for girls are called
Options:

1 Zenanas

. Tols



Pathasalas

Ashramas

Question Number : 90 Question Id : 6232172625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

In Ancient Education the learning of a student 1s based on
Options:

Learning by doing

1
Learmning by observation
z.
Learning by self
Learning by mistakes
4.
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Section Id : 62321730
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Number of Questions: 90
Number of Questionsto be attempted: 90
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 6232172626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Intellectual property laws can protect

Ii. Trademarks
2. Copyright
3. Patents
4. Consumer loyalty
Options:
2 only
1.
5 3 only
., 1,2and3

1.2 3and 4

4.

Question Number : 92 Question Id : 6232172627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Match the items of List I with the items of List IT

List I List IT
a. FEMA 1. 1986
b. Indian Factories Act 2.1999
c. Industrial Disputes Act 3. 1948
d. Consumer Protection Act 4.1947

Options:



a-3 b-1 c-2 d-4
. a2  b-3 c-4  d-1

d-2

sl

, a1 b4 c-

Question Number : 93 Question Id : 6232172628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Match the following

List I List IT

a—

a. Trade Policy . Economic conditions

b. Trade Flows 2. Economic Policies

'y

c. Price Trends . Global linkages

d. Internal sectoral limkages 4. Structure and nature of economy

Options:

a-3 b-1 -

-2

d-4

L

a-2 b-3 c-1 d-4

£
(i
oyl
2
¢

(ad
fe
N

a-1 b-2 c-4 d-3

Question Number : 94 Question Id : 6232172629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A stable and dynamic political environment 1s indispensable for



Options:

Business growth

Enhance the export
Z.

] Both Business growth and enhance the export

None of the other options
4,

Question Number : 95 Question Id : 6232172630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The competition which satisfy a particular category of desire 1s called
Options:

. Brand competition
, Product competition

Generic competition
>,

None of the other options
4.

Question Number : 96 Question Id : 6232172631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Why public sector took over a number of sick units from the private sector?

Options:

Due to social obligations of protecting employment
1.

, Dueto low manufacturing

Due to deficiency of managerial planning
s



4.

None of the other options

Question Number : 97 Question Id : 6232172632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Match the following regarding disimnvestment in India

I

I1I.

IV.
Options:
I-c
1.

I-a

2

I-c

3

I-a

4.

Dismvestment Policy by the Chandrashekhar Govt

Rangarajan Committee on disinvestment in Public

Last |

sector enterprises

Strategic and nonstrategic classification of public
enterprises for disinvestment

Formation of disinvestment comimission

I1-d

I1-b

I1-b

I1-d

I1T-a

III-c

IV-b

IV-d

List IT

a. 1999

b. 1996

c. 1991-92

d. 1993

Question Number : 98 Question Id : 6232172633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one 1s not mcluded in economic environment of external environment

Options:

BOP

1.

Transportation

2.



GNP
Product life cycle

Question Number : 99 Question Id : 6232172634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Competition act was enacted 1n

Options:

1986
_ 2002

1969

1930

Question Number : 100 Question Id : 6232172635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which 1s/are accounting concept
a)  Verifiability and objectivity
b)  Matenality
c)  Consistency
d)  Dual aspect

e)  Full disclosure

Options:

c & b only

1.



a & d only
2.

a.e&c
=,

, d&eonly

Question Number : 101 Question Id ;: 6232172636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following statements (in general) is CORRECT?

Options:

1 A low receivable turnover 1s desirable

. The lower the debit-to-equity ratio, the lower financial risk for a firm

An increase 1n net profit margin with no change in sales or assets means a
5 weaker ROI

) The higher the tax rate for a firm, the lower the interest coverage ratio.

Question Number : 102 Question Id : 6232172637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When one or more existing companies go in to liquidation and some existing
company buys the business . it is known as
Options:

: external reconstruction

, liquidation

. absorption

amalgamation
4.

Question Number : 103 Question Id : 6232172638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

If the gross profit is Rs. 5000 and net profit is 25% of the gross profit The expense
will be
Options:

3750

1.

Question Number : 104 Question Id : 6232172639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match the items of the following two lists:

List I ListIT
1 Statement of changes in working capital a. cash flow
11. Deferred tax b. fixed assets

111. Three activities . Fund flow statement

f':u

1v. Impairment loss d. Balance sheet
Options:
. 1-a i1-b 1-c 1v-d
, 1€ 1-d  u1-b  1v-a
1-C in-d  ur-a  1v-b
=
. 1d 11-C i1-a  1v-b

Question Number : 105 Question Id : 6232172640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
Match the items of the following two lists and indicate the correct answer:

List I List I1
1. Eaming ability of firm a. basis of accounting
11. Conservatism b. P/V ratio
111.  Cash profit ¢. cash flow statement
1v. Cash and accrual d. prudence
Options:
1-b i1-d  1-c  1v-a
L
1-b 11-a ii-d  1v-c
2
- BE in-d  ur-a  1v-b
1-C ii-d  11-b  1v-a
4

Question Number : 106 Question Id : 6232172641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following statements are false about management accounting?

A) Management accounting is concerned with historical events.

B) Management accounting is related only with such instances which can be
expressed in monetary terms.

C) Management accounting 1s a part of Financial Management

D) Management accounting information can be disclosed to outsiders.

Options:



A, B&D

R G 1)

M

. AB&E

A B C )

Question Number : 107 Question Id : 6232172642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

If a and b are sharing profits in the ratio of 3:2, admit ¢ to one-third share in the
future profit, the profit-sharing ratio will be

Options:
a b C
2/5 4/15 1/3
1.
a b C
3/5 2/5 2/15
2.
a b C
; 4/15 3/15 2/15

equally distributed

4.

Question Number : 108 Question Id : 6232172643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In case of holding company accounts, liability in respect of bills discounted is a

Options:

contingent liability

, current liability

long term liability



) Intangible liability

Question Number : 109 Question Id : 6232172644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Greater consumer control means that companies must rely more on marketing by
than by

Options:
i socialization: information

producing: selling
z.

mspiration; competition
>,

. interaction: mftrusion

Question Number : 110 Question Id : 6232172645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
An mcreasingly large number of firms are changing their organizational focus from
to

Options:
1 product management; functional management

. brand management; customer relationship management
z.

territory management: functional management
>,

]}I‘E}dHCT 111a11a gElllEll'E: 'EEI‘l‘i’[Gl‘V management
4. 2 2

Question Number : 111 Question Id : 6232172646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the items of List I with the items of List IT and select the correct answer

ListI List IT
(a) Economic profit 1 Total revenue — explicit cost
(b) Accounting profit 11 buyers and sellers exchanging
(c) Collusion/Cartel 111 Total revenue — Total cost
(d) Market v Oligopoly
Options:
a-111  b-1 c-iv  d-u
, a-l b-1  c-m1  d-iv
a-tv. b-m1  c-u1 d-1
, an  biav e d-111

Question Number : 112 Question Id : 6232172647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Consider the following:

1.  Pricing objectives
11. Pricing methods
111. Pricing strategies
1v. Pricing decisions

LAI'I‘ElllgE them 1n correct sequelices:

Options:



1, 111, 11, 1V

3
LV ki
o
11, 1, 1v, 111
z.
1v, 11, 111, 1
4. :

Question Number : 113 Question Id : 6232172648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the items of List I with the items of List IT

List I
(a) Multiple plants
(b) Cost-Plus pricing
(c) Multiple markets

(d) Multiple products

Options:

a-1v  b-1u |

41 b-m1  c¢c-1v
2.

a-11 b-1 c-111
=,

a-111  b-iv  c-11
4.

List IT
(1) MRPt=MC = MRPx = MRPpy
(1) MRT =MC =MR; = MR2
(111) MR =MCt=MCa = MCs

(iv) P=(1+m) ATC

d-1v

d-1

Question Number : 114 Question 1d : 6232172649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Arrange the following staffing procedures in the correct sequences:
1.  determining sources of personnel supply
1.  preparing personal specifications
1.  selection of personnel

1v.  determining personnel characteristics
Options:
11, 1, 1V, 111
L
1, 11, 111, 1V
1, 1, 111, IV

il, 111, 1, IV

Question Number : 115 Question Id : 6232172650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Match list I with List IT and select the correct answer

List I List I1
A. Administered price 1. landed cost of umports
B. Parity pricing 2. liberalized economy
C. Competitive price 3. public enterprises
D. Discriminating price 4.  fixed by Government

Options:



2.

. A3 B4 €2 D
A-4 B2 C-1 D-3

4.

Question Number : 116 Question Id : 6232172651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a perfectly competitive market, the firm will be
Options:
, A Price maker

. A price taker

. Restricting entry of others

Producing a product which will be different from 1its competitors
4,

Question Number : 117 Question 1d : 6232172652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
If income elasticity of demand 1s greater than unity, the commodity 1s

Options:

A necessity
1.

An inferior good
2

. A luxury good



None of the other options

Question Number : 118 Question Id : 6232172653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A numerical value used as a sununary measure for a sample, such as sample mean,

1s known as a
Options:

Population Parameter

L

Sample Parameter
z.

Sample Statistic
o

Population Mean.
4.

Question Number : 119 Question Id : 6232172654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The combined arithmetic mean of two samples of sizes 6 and 4 respectively whose
means are 15 and 25 1s

Options:

20

1.

19

Question Number : 120 Question Id : 6232172655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Median= 1+ ¢(N/2 — m)/f where ‘m’ 1s

Options:



Cumulative frequency of the median class
1.

frequency of the median class
2.

Cumulative frequency of the class preceding the median class
=

frequency of the class preceding the median class
4.

Question Number : 121 Question Id : 6232172656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A listing of the possibile outcomes of an experiment and their corresponding
probability 1s called

Options:

] Random Variable

, € ontingency table

. Probability distribution

Frequency distribution
N 3

Question Number : 122 Question Id : 6232172657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The probability function 1s always
Options:

Negative
1.

Non Negative

. Infinity



None of the other options
4,

Question Number : 123 Question Id : 6232172658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The percent of total variation of the dependent variable Y explained by the set of
independent variables X is measured by

Options:

Coetficient of Correlation

Coefficient of Skewness

Coefticient of Determuination

Standard Error or Estimate

Question Number : 124 Question Id : 6232172659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Purchasing power of money can be accessed through:

Options:

Simple index
1.

Fisher’s index
2.

. Consumer price index

Volume mdex

Question Number : 125 Question Id : 6232172660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s correctly matched



Options:

1 Pictogram - oral presentation of data

Histogram - graphic presentation of data
z.

Histogram - diagrammatic presentation of data
>,

Cartogram - diagrammatic and graphic presentation of data
4.

Question Number : 126 Question Id : 6232172661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
F ratio contains

Options:

Two estimates of population variance
1.

Two estimates of population mean
z.

One estimate of population variance and one population mean
>,

None of the other options
4

Question Number : 127 Question Id : 6232172662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The concept of scientific management given by
Options:

. Frederick Taylor

Henry Fayol

z.

Elton Mayo

&



Peter Dimucker

Question Number : 128 Question Id : 6232172663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Bureaucracy 1s considered most efficient system because

Options:

. It insists on rules

It prescribes mformal relationship

2.

. It emphasizes on human elements 1n the organization
It provide more freedom to action

4.

Question Number : 129 Question 1d : 6232172664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which of the following approach has emerged from the finding of Hawthorne
Experiments?

Options:

Human behavior approach

L

Systems approach
Z.

Human relations approach
3.

Decision theory approach
4

Question Number : 130 Question Id : 6232172665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the following

A. The practice of Management
B. Philosophy of Management
C. Scientific Management

D. General and Industrial Administration

Options:

A-1 B-2 (C-3 D4

I,
, A-4 B-3 (C-2 D-1
. A-4 B-3 (C-1 D-2
. A-3 B4 (C-2 D-1

Henry Fayol
F.W Taylor
Oliver Sheldon

Peter F. Drucker

Question Number : 131 Question Id : 6232172666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Esteem need 1s also called as

Options:

Social need
1.

5! Self-realization need

. Egoneed

, Safety need

Question Number : 132 Question Id : 6232172667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0



Cost volume profit analysis 1s otherwise called as

Options:
1 budget control technique

" statistical control

break even analysis
>,

, cost control

Question Number : 133 Question 1d : 6232172668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Specifying the manner of executing the policy 1s known as
Options:
objective
L d

, schedule

procedure
>,

budeget
4. =

Question Number : 134 Question Id : 6232172669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Goal or target to be achieved 1s known as
Options:

schedule
1=

budget
z.



procedure
>,

objective
4.

Question Number : 135 Question Id : 6232172670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When the authority 1s delegated as per the organization structure is

Options:
1 formal delegation

, general delegation

] specific delegation

, Informal delegation

Question Number : 136 Question Id : 6232172671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Fixation of standards. measurement of performance . comparison and correction of
deviation are steps in

Options:

planning
1.
, Oorganizing
_ statfing

control process
4.

Question Number : 137 Question Id : 6232172672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which among the following are parts of job description?

1. duties performed

11. job summary

111. job 1dentification

1v. supervision given

V. delegation of authority
Options:

1 1. 11, 111, and 1v

1. 111, 1ivand v

1, 111, 1v, and v
3

; 1. 11, 111, and v

Question Number : 138 Question Id : 6232172673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The key responsibility of management is finding ways to reduce the following

Options:

dissatisfaction

uncerta illt}f
z.

= Stress

, All of the other options



Question Number : 139 Question Id : 6232172674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following system combines the superior and self-evaluation systems?

Options:

graphic rating scale
L

5 forced choice

essay evaluation
>,

, management by objective

Question Number : 140 Question Id : 6232172675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Match the following lists

ListI ListIT
1. Sumple ranking a. evaluation by superiors. peers and subordinates
2. Paired comparison b. order of rating from best to worst
3.360-Degree appraisal c. standard quantitative rating
4. Graphic Rating d. comparing rating to one another

Correct pairing 1s

Options:

1-b 2-d 3-a 4-¢

1.
. l1-a 2-b 3¢ 4-d
] 1-c 2-d 3-a 4-b



Question Number : 141 Question Id : 6232172676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the items of List I with the items of List II

List T

(1) Job rotation

(11) Job design

(111)  Job evaluation

(1v)  Job enrichment

Options:

1-a 11-b
1=

1-d 11-C

2.

1-C 11-d
=
i 1-b 11-a

111-C

111-b

111-b

11-d

ListIT

(a) involves conscious efforts, to organize tasks, duties
and responsibilities into a unit of work to achieve
certain objective

(b) involves movement of employees from job to job

(c) seeks to improve both task efficiency and human
satisfaction and more opportunity for individual
growth

(d) the formal process by which the relative worth of
various jobs in the organization 1s determined for

pay purpose.

1v-d

1v-a

1v-a

1vV-C

Question Number : 142 Question 1d : 6232172677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which of the following 1s/are the HRD score card?

Options:

HRD Systems Maturity Score
1

5 competency score



. HRD competencies systems maturity

all of the other options
4

Question Number : 143 Question Id : 6232172678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What 1s that describes the duties of the job , authority relationship .skill
requirement , condition of work etc.

Options:
job analysis
e,

job enlargement
z.

job enrichment
Sy

, Job evaluation

Question Number : 144 Question Id ;: 6232172679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

During the lay of period , the employer has to pay of the basic pay
Options:

one fourth
1.

half
2
’ three forth

one third
Ly

Question Number : 145 Question Id : 6232172680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of the following 1s not the major components of holistic marketing
Options:

Relationship marketing
1.

Integrated marketing

z.
Customer satisfaction
i
) Socially-responsible marketing

Question Number : 146 Question Id : 6232172681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Fill in the blanks:
Statement Alternatives
a. Loyal customer”  products 1. Less attention
b. Loyal customers are  sensitive 2. Cheaper
c. Loyal customer pay  to competitors advertisement 3. Less price
d. Serving existing customer 1s 4. Buy
Options:

a-3 b-1 -2 d-4

a-4 b-3 c=1 d-2



Question Number : 147 Question Id : 6232172682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A method for achieving maximum market response from limited marketing
resources by reorganizing differences in the response characteristics of various
parts of the market 1s known as

Options:

Market targeting
1.

, Market positioning

Market segmentation
=,

Market strategy
4.

Question Number : 148 Question Id : 6232172683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
In marketing mix, which four P’s are covered?
Options:

Product, price, place. promotion

Product, price.,power, promotion’
2.

Product, price, penetration, promotion
3.

, Product, price, positioning, promotion

Question Number : 149 Question Id : 6232172684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the items of List I with the items of List I1.

ListI List II

(1) AIDA Model (a) Consumer behavior
(1) Hierarchy of effects model (b) Marketing Communication
(111) Howard and Sheth model (c) Consumer buying-decision process
(1v) Information search (d) Adverting effectiveness
Options:
1 1-a 11-b  11-¢ 1v-d
, 1-b 11-C 1i-d  1v-a

1-b 11-d  1u1-a 1v-c
2
) 1-d 11-a 11i-¢c 1v-b

Question Number : 150 Question Id : 6232172685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Public distribution system relates to

Options:

Marketing system
1.

Retailing system
z.
] Industrial system

Selling system

Question Number : 151 Question Id : 6232172686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Howard-sueth model of consumer behaviour is popularly known as

Options:
Machine model

Human model

Marketing model

Purchase model

Question Number : 152 Question Id : 6232172687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

To generate and facilitate any exchange intended to satisfy human needs or wants
such that the satisfaction of these wants occur with minimal detrimental impact on
the natural environment is knows as

Options:

Aggressive marketing

1.
Operating marketing
2.
. Green marketing
All of the other options
4.

Question Number : 153 Question Id : 6232172688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

When a project’s internal rate of return is equal to cost of capital
Options:

Project should be accepted

. Project should be rejected



Cannot say whether to accept or reject
o 3

) Project’s NPV will be positive

Question Number : 154 Question Id : 6232172689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the following

A. Modighan-Miller approach 1. Commercial paper
B. Net operating income approach 2. Working capital
C. Short term money market instrument 3. Capital structure
D. Factoring 4. Arbitrage

Options:

A-4 B-3 (C-2 D-1

A-3 B-4 C-1 D-2
2)
; A-3 B-2 C-1 D-4
A-4 B-2 C-3 D-1
4,

Question Number : 155 Question Id : 6232172690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Capital gearing ratio is otherwise called as

Options:

Liquidity ratio



Turnover ratio

Profitability ratio
s

Capital structure ratio
4.

Question Number : 156 Question Id : 6232172691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Relationship between Economic Value Added (EVA) and Net Present Value
(NPV) 1s considered as

Options:

valued relationship

1.
economic relationship
2
direct relationship
=,
inverse relationship
4

Question Number : 157 Question Id : 6232172692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In mutually exclusive projects, project which i1s selected for comparison with
others must have
Options:

1 higher net present value

lower net present value
2.

ZET0 Net present value

) Zero profit



Question Number : 158 Question Id : 6232172693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Second mortgages pledged against bond's security are referred as
Options:

loan mortgages
1.

medium mortgages

senior mortgages
>,

junior mortgages
4.

Question Number : 159 Question Id : 6232172694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Method of stock valuation which 1s multiple of earning per share, book value and
net income 1s classified as

Options:

stock multiple analysis

dividend multiple analysis

market multiple analysis
=,

) stock and multiple analysis

Question Number : 160 Question 1d : 6232172695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Dividend present value for period of non-constant growth in addition with horizon
value 1s used to calculate
Options:

stock extrinsic value



stock intrinsic value

dividend intrinsic value

dividend extrinsic value

Question Number : 161 Question Id : 6232172696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In calculation of net cash flow. depreciation and amortization are treated as

Options:

current liabilities

imncome CXPECIISES

non-cash revenues

non-cash charges.

Question Number : 162 Question Id : 6232172697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In accounting profit prior to incorporation 1s treated as
Options:
General Reserve
Capital Reserve

Secret Reserve

Revenue Reserve

Question Number : 163 Question Id : 6232172698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

Which among the following 1s not true with regard to merchant banker?

(1) It can accept deposit

(11) It can advance loans

(111) It can do other banking activities

(1v) It can manage a public 1ssue
Options:

1. 11 and 111

11, 111 and 1v

1, 111 and 1v

11 and 1v

Question Number : 164 Question Id : 6232172699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the following items of List I and List II in terms of function of commercial
banks:

List I ListII
(a) letter of reference 1 advancing loan
(b) sale of gold coins 11 receiving deposits
(c) recurring account 111 non-banking function
(d) overdraft 1v agency function
Options:
| B b-1  c-11 d-wv

. @Y DAl T



a-tv. b-n c-m1 da

A= b-ii1 c-11 d-1v

Question Number : 165 Question Id : 6232172700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following is a recent e-banking initiative in Commercial banks
in India?

Options:
. RTGS
. NEFT
. NECS
NET BANKING
4,

Question Number : 166 Question Id : 6232172701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which one of the following schemes introduced by NABARD is intended to
provide credit to farmers?

Options:

Rural infrastructure development fund

. Kisan credit card

Micro finance

Co-operative Development fund
4,

Question Number : 167 Question Id : 6232172702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Capital adequacy norm 1s expressed as a percentage of

Options:

standard assets

risk adjusted assets
Z.

sub-standard assets

mvestiments

Question Number : 168 Question Id : 6232172703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match the following items of List — I with List —1IT

List I List IT
(1) SWIFT 1. 1996
(11) NEFT b. 1988
(111) BASEL I Accord 3 1973
(1v) BASEL IT Accord d. 2004
Options:
1-a 11-b ii-c 1v-d
1.
1-b 11-C iii-a  1v-d
2.
1-d 11-C 111-b  iv-a
=k
1-C i1-a iii-d  1v-b



Question Number : 169 Question Id : 6232172704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

PIN 1n banking transaction 1s known as

Options:

Postal index number

1.
Permanent identification number
2.
Personal 1dentification number
=,
Public interlocking numeric
4

Question Number : 170 Question Id : 6232172705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Reserve bank of India was nationalized on

Options:

January 26, 1948

1.
, January 01, 1949
. January 26, 1950

January 01, 1956

Question Number : 171 Question Id ;: 6232172706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The success of e-banking depends upon:-

1. Multi-layer security system
11. Risk and surveillance management
111. Updated flawless Softwares
1v. Stringent legal frame-work
Options:
1, and 11

1.
i, 11 and 111

1. 111 and 1v
=

1, 11, 11 and 1v
4.

Question Number : 172 Question Id : 6232172707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one 1s not an objective of IMF?
Options:
1 To promote mternational monetary co-operation

To ensure balanced international trade

To finance productive efforts according to peace-time requirement
=3

To ensure exchange rate stability
4.

Question Number : 173 Question Id : 6232172708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



EPCG denotes

Options:

. Export potential and credit guarantee

Earning promotion and credit guarantee

z.

Export promotion and credit guarantee
i
) Export potential and credit goods

Question Number : 174 Question Id : 6232172709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one 1s not an international organization?

Options:

SAARC
ASEM

ASEAN

CBDT

Question Number : 175 Question Id : 6232172710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Balance of payments can be made favourable 1f

Options:

Exports are mcreased

Imports are increased
z.



Devaluation of money is mncreased
>,

Both Exports and Devaluation of money are increased

Question Number : 176 Question Id ;: 6232172711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Identify the one, from the following, which 1s not a type of disequilibrium in the
balance of payments of a country:

Options:
Cyclical disequilibrium
1.

Secular disequilibrium
2.

Structural disequilibrium

Sectoral disequilibrium
4.

Question Number : 177 Question Id : 6232172712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the following items of List — I with List —IT

List I List II
(1) Free trade area a. MERCOSUR
(1) Customs Union b. European
(111) OEEC c. EFTA
(1v) Common Market d. Marshall Plan

Options:

1-a 11-b ii1-¢ 1v-d



1-b 11-C ii-a  1v-d

Z.

1-d 1-c  1u1-b  1v-a
=,
, I im-a  1-d  1v-b

Question Number : 178 Question Id : 6232172713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A MNC that maintain a balance between the home market and host market
oriented policies is

Options:

; Ethnocentric firm

Polvcentric firm
2. =

Geocentric firm

None of the other options
4.

Question Number : 179 Question Id : 6232172714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The collapse of which of the following systems 1s related to the Triffin Paradox?

Options:

Gold Standard

1

, Exchange rate mechanism (in 1992)

Bretton woods

, None of the other options



Question Number : 180 Question Id : 6232172715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Receipts and Payments accounts 1s prepared by

Options:

Trading Concerns
1

, Companies registered under Company’s Act 1956

Manufacturing concerns
>,

Non Trading concerns
4,



